R8C2

panda Fulura

Exploded views / Part lists
Rev. date (11.2018)

On the following pages you will find the parts used to assemble this product.
Please note that some spare parts cannot be purchased individually but are

part of a complete kit. Please also note that for some spare parts extra deliv-
ery time may occur.




Panda Futura R 8 E®

Contents
o) =1 4 18 F= 1 6 BT 4 <t [ 3
Standard size 2, 2%, 3 anNd 4 ... 5

ACtive Size 2, 2%z, 3 AN 4.t g



R8C2

Panda Futura

Ay/125)

o
<~
o
~

PANDA
STANDARD ~ SIZE 1

PARALLELVEJ 3
8751 GEDVED
68 58 88

751

5] 1RB2 4%




Panda Futura

R8C2

Panda Standard Size 1

No. Position Description Quantity | Unit of Measure Ean code

1 82260-60 Plast back Panda 1, black 1 PCS 5707292230836
1 82260-66 Plast back Panda 1, blue 1 PCS 5707292230850
2 82265-60 Plast Seat Panda 1, black 1 PCS 5707292230874
2 82265-66 Plast Seat Panda 1, blue 1 PCS 5707292230898
3 0621600 Insex screw counters. 6*16 4 PCS 5707292138965
4 6109002 Screw spec. M8, Panda 5 2 PCS 5707292466754
5 82327 Side-mounting, left, Panda 2 1 PCS 5707292123459
6 0621600 Insex screw counters. 6*16 2 PCS 5707292138965
7 82329 Tip-mounting Panda 142, 1 PCS 5707292123473
8 82301-62 Panda pvc adaptor black 1 PCS 5707292231239
9 0659571 Button head w/flange M6*25 FZB 4 PCS 5707292355843
10 1606500 Lock nut 6 mm 1 PCS 5707292141361
11 1103000 Fazet washer 6mm 2 PCS 5707292140289
12 1901500 Steel set screw 6*35mm 1 PCS 5707292141965
13 81711 Internal rod f.back tip, pal,2 1 PCS 5707292118004
14 82403 Pvc mounting f/armrest, Panda 2 PCS 5707292123992
15 82326 Side-mounting, right, Panda 2 1 PCS 5707292123442
16 82408 Underlaying plate, pvc armrest 2 PCS 5707292124043
17 3652501 R82 handle M6*16mm screw 2 PCS 5707292413963
18 0611200 Insex screw counters. 6*12 4 PCS 5707292138699
18.1 0611600 Insex screw counters. 6%12 4 PCS 5707292138705
19 81152 Mounting for headrest Panda 1 1 PCS 5707292112750
21 0611200 Insex screw counters. 6*12 2 PCS 5707292138699
23 81712 Back mounting for Panda 1-4 1 PCS 5707292118011
24 1901800 Steel set screw 6*¥40mm 1 PCS 5707292141972
25 0659300 Button head M6*12 fzb, black 2 PCS 5707292139443
27 81710 External pipe for back tip,pan 1 PCS 5707292117991
28 3502516 Tightening handle 45mm M8*16 2 PCS 5707292146915
29 4913035 30mm black ps14 with glue hook 1 PCS 5707292469755
30 1125000 Screenwasher FZB black 5/16*30 2 PCS 5707292140470
31 5550260 Sewn strap holder.Pan.futura 2 PCS 5707292178459
32 896111-65 Cover f.seat,futura sz.1, red 1 PCS 5707292495938
32 896111-66 Cover f.seat,futura sz.1,blue 1 PCS 5707292498229
32 896111-70 Cover f/seatcushion,fut.sz. 1 1 PCS 5707292294340
32 896111-71 Cover f.seat,futura sz.1,b.abc 1 PCS 5707292294364
32 896111-72 Cover f.seat,futura sz.1,b.hop 1 PCS 5707292294388
32 896111-73 Cover Seat futura size 1 1 PCS 5707292355638
32 896111-78 Cover f.seat,futura sz.1,g.abc 1 PCS 5707292294401
32 896111-79 Cover f.seat,futura sz.1,g.hop 1 PCS 5707292294425
32 89638-191 Cover,seat panda futura sz. 1 1 PCS 5707292302397
32 89638-193 Cover, seat panda futura sz. 1 1 PCS 5707292302403
32 89638-195 Cover for seat, Panda 1,red 1 PCS 5707292493231
32 89638-196 Cover for seat, Panda 1,blue 1 PCS 5707292493248
32 89638-198 Cover,seat cusion 1,green abc 1 PCS 5707292302410
33 895211-65 Cover,backr.futura std.1,red 1 PCS 5707292495839
33 895211-66 Cover,backr.futura std.1,blue 1 PCS 5707292498212
33 895211-70 Cover for backcush.futura,sz 1 1 PCS 5707292291882
33 895211-71 Cover,backr.futura std.1,b.abc 1 PCS 5707292291905
33 895211-72 Cover,backr.futura std.1,b.hop 1 PCS 5707292291929
33 895211-73 Cover f/backrest futura sz.1 1 PCS 5707292355614




Panda Futura

R8C2

33 895211-78 Cover,backr.futura std.1,g.abc PCS 5707292291943
33 895211-79 Cover,backr.futura std.1,g.hop PCS 5707292291967
33 895212-65 Cover,back s.1 std,+5, red PCS 5707292496676
33 895212-66 Cover,back s.1 std,+5, blue PCS 5707292519320
33 895212-71 Cover,back s.1 std,+5,blue abc PCS 5707292291981
33 895212-72 Cover,back s.1 std,+5,blue hop PCS 5707292291998
33 895212-73 Cover, back cushion +5cm,sz. 1 PCS 5707292367068
33 89639-191 Cover,back Panda futura sz.1 PCS 5707292303141
33 89639-193 Cover, back size 1, red abc PCS 5707292303158
33 89639-195 Cover/back Panda 1,red PCS 5707292493224
33 89639-196 Cover/back Panda size 1,blue PCS 5707292493330
33 89639-198 Cover,back size 1,green abe PCS 5707292303165
34 895211-60S | Cover f/backsidecush.fut. Sz 1 SET 5707292496409
34 895211-70S | Cover f/backsidecush.fut. Sz 1 SET 5707292291899
34 895211-71S | Cover f/backsidecush.fut. Sz.1 SET 5707292291912
34 895211-72S | Cover f/backsidecush.fut. Sz.1 SET 5707292291936
34 895211-73S | Cover f/backside cush.fut.sz.1 SET 5707292355621
34 895211-78S | Cover f/backsidecush.fut.sz.1 SET 5707292291950
34 895211-79S | Cover f/backsidecush.fut. Sz.1 SET 5707292291974
35 896111-60S | Cover f/seatsidecush.fut.sz. 1 SET 5707292496447
35 896111-70S | Cover f/seatsidecush.fut.sz. 1 SET 5707292294357
35 896111-71S | Cover f/seatsidecush.fut.sz 1 SET 5707292294371
35 896111-72S | Cover f/seatsidecush.fut.sz. 1 SET 5707292294395
35 896111-73S | Cover seatside cush.fut. Sz.1 SET 5707292355645
35 896111-78S | Cover f/seatsidecush.fut.sz 1 SET 5707292294418
35 896111-79S | Cover f/seatsidecush.fut.sz. 1 SET 5707292294432
36 2506000 Ferrule fr20*10*1,0-2,0 in.bl. PCS 5707292144195
37 5800775 Foam,seat Panda fut.sz.1,3 cm. PCS 5707292183118
37 5700010 Glueing Panda 1,seatcushion PCS 5707292178572
38 5800800 Foam,back Panda fut.sz.1, 3 cm PCS 5707292183163
38 5800802 Foam back cushion, S5cm, PCS 5707292183170
38 5700005 Glueing Panda 1,backcushion PCS 5707292178527
39 5800830 Foam,backs. Right Panda fut.1 PCS 5707292183347
39 5800832 Foam,backs.right,5cm,pan.fut.1 PCS 5707292183361
40 5800831 Foam,backs. Left panda fut. 1 PCS 5707292183354
40 5800833 Foam,backs.left,5cm,pand.fut.1 PCS 5707292183378
41 5800860 Foam, seats. Right,panda fut.1 PCS 5707292183545
41 5800862 Foam,seats.right,5cm,pan.fut. 1 PCS 5707292183569
42 5800861 Foam, seats. Left,panda fut. 1 PCS 5707292183552
42 5800863 Foam,seats.left,5cm,pand.fut.1 PCS 5707292183576
43 5700211 Glueing lumbar supp.panda 1+2 PCS 5707292180544
44 0631862 Insex uh. 5x12, FZB PCS 5707292352293




R8C2

Panda Futura




Panda Futura

R8C2

Panda Standard Size 2-4

No. Position | Description Quantity | Unit of Measure Ean code
82320-60 1 Plast back Panda 2, black 1,00 Pieces 5707292231246
82330-60 1 Plast back Panda 3, black 1,00 Pieces 5707292231321
82340-60 1 Plast back Panda 4, black 1,00 Pieces 5707292231406
82290-60 1 Plast back Panda 2'4, black 1,00 Pieces 5707292231154
82325-60 2 Plast Seat Panda 2, black 1,00 Pieces 5707292231284
82335-60 2 Plast Seat Panda 3, black 1,00 Pieces 5707292231369
82345-60 2 Plast Seat Panda 4, black 1,00 Pieces 5707292231444
82295-60 2 Plast Seat Panda 2%, black 1,00 Pieces 5707292231192
0621600 3 Insex unders. M6*16, FZB 4,00 Pieces 5707292138965
6109002 4 Screw spec. M8, Panda 5 2,00 Pieces 5707292466754
82327 5 Side-mounting, left, Panda 2 1,00 Pieces 5707292123459
82337 5 Side-mounting, left, Panda 3 1,00 Pieces 5707292123527
82347 5 Side-mounting, left, Panda 4 1,00 Pieces 5707292123596
0621600 6 Insex screw counters. 6*16 2,00 Pieces 5707292138965
82328 7 Tip-mounting, Panda 2 1,00 Pieces 5707292123466
82338 7 Tip-mounting, Panda 3 1,00 Pieces 5707292123534
82348 7 Tip-mounting, Panda 4 1,00 Pieces 5707292123602
82298 7 Tip-mounting, Panda 2}, 1,00 Pieces 5707292123190
82301-62 8 Panda pvc adaptor black 1,00 Pieces 5707292231239
0659571 9 Button head w/flange M6*25 FZB 4,00 Pieces 5707292355843
0589100 12 Stainl. Tightening sprig 5*20 1,00 Pieces 5707292137807
82323 13 Internal pipe, Panda 2 1,00 Pieces 5707292123428
82333 13 Internal pipe, Panda 3 1,00 Pieces 5707292123503
82343 13 Internal pipe, Panda 4 1,00 Pieces 5707292123572
82293 13 Internal pipe, Panda 2% 1,00 Pieces 5707292123176
82403 14 Pvc mounting f/armrest, Panda 2,00 Pieces 5707292123992
82326 15 Side-mounting, right, Panda 2 1,00 Pieces 5707292123442
82336 15 Side-mounting, right, Panda 3 1,00 Pieces 5707292123510
82346 15 Side-mounting, right, Panda 4 1,00 Pieces 5707292123589
82408 16 UNDERLAYING PLATE, PVC ARMREST 2,00 Pieces 5707292124043
3652501 17 R82 handle M6*16mm screw 2,00 Pieces 5707292413963
0611600 18 Insex screw counters. 6*12 4,00 Pieces 5707292138705
81138 19 Mounting for headrest w.strap 1,00 Pieces 5707292112637
3503001 20 R82 handle M8*15mm screw 1,00 Pieces 5707292413925
0611200 21 Insex screw counters. 6*%12 2,00 Pieces 5707292138699
82321 22 Cover-plate, Panda 2 1,00 Pieces 5707292123404
82331 22 Cover-plate, Panda 3 1,00 Pieces 5707292123480
82341 22 Cover-plate, Panda 4 1,00 Pieces 5707292123558
82291 22 Cover-plate, Panda 2Y, 1,00 Pieces 5707292123152
6118805 24 Pin @8*44 f. Panda back, pvc 1,00 Pieces 5707292186690
1940000 26 Eco-syn, 3,5%10 4,00 Pieces 5707292142559
82322 27 External pipe, Panda 2 1,00 Pieces 5707292123411
82332 27 External pipe, Panda 3 1,00 Pieces 5707292123497
82342 27 External pipe, Panda 4 1,00 Pieces 5707292123565
82292 27 External pipe, Panda 2 1,00 Pieces 5707292123169
3504025 28 Tightening handle 45mm M8%*25 1,00 Pieces 5707292147103
4913035 29 30mm black ps14 with glue hook 0,85 Meter 5707292469755
1125000 30 Screenwasher FZB black 5/16*30 2,00 Pieces 5707292140470




Panda Futura

R8C2

5550260 31 Sewn strap holder.Pan.futura 2,00 Pieces 5707292178459
896121-65 32 Cover f.seat,futura sz.2, red 1,00 Pieces 5707292495945
896121-66 32 Cover,seat cush. Futura size 2, blue 1,00 Pieces 5707292497444
896131-65 32 Cover f.seat,futura sz.3, red 1,00 Pieces 5707292495969
896131-66 32 Cover f.seat,futura sz.3,blue 1,00 Pieces 5707292498250
896141-65 32 Cover for seatcushion,fut.sz 4, red 1,00 Pieces 5707292495976
896141-66 32 Cover for seatcushion,fut.sz 4, blue 1,00 Pieces 5707292498274
896161-65 32 Cover f/seatcushion,fut.sz 2, red 1,00 Pieces 5707292495952
896161-66 32 Cover,seat cushion fut 2%, blue 1,00 Pieces 5707292497420
895221-65 33 Cover,backr.futura std.2, red 1,00 Pieces 5707292495846
895221-66 33 Cover,backr.futura std.2, blue 1,00 Pieces 5707292497406
895222-65 33 Cover,back s.2 std,+5, red 1,00 Pieces 5707292496683
895222-66 33 Cover.back cush.fut.std,sz 2, blue 1,00 Pieces 5707292497475
895231-65 33 Cover,backr.futura std.3, red 1,00 Picces 5707292495860
895231-66 33 Cover,backr.futura std.3,blue 1,00 Pieces 5707292498243
895232-65 33 Cover,back s.3 std.+5, red 1,00 Pieces 5707292496690
895232-66 33 Cover,back cushion,size 3, blue 1,00 Pieces 5707292507006
895241-65 33 Cover,backr.futura std.4, red 1,00 Pieces 5707292495877
895241-66 33 Cover,backr.futura std.4,blue 1,00 Pieces 5707292498267
895242-65 33 Cover,back s.4 std.+5, red 1,00 Pieces 5707292496706
895242-66 33 Cover,back s.4 std.+5, blue 1,00 Pieces 5707292509079
895261-65 33 Cover,back,futura std.2', red 1,00 Pieces 5707292495853
895261-66 33 Cover,back,futura std.2', blue 1,00 Pieces 5707292498236
895262-65 33 Cover,back 2% std.+5, red 1,00 Pieces 5707292496713
895262-66 33 Cover,back 2% std.+5, blue 1,00 Pieces 5707292503152
895221-60S 34 Cover f/backsidecush.fut.sz 2, black 1,00 Set 5707292496416
895231-60S 34 Cover f/backsidecush.fut.sz. 3, black 1,00 Set 5707292496430
895241-60S 34 Cover,backcush, fut. Std.size 4, black 1,00 Set 5707292366139
895261-60S 34 Cover f/backsidecush.fut.sz 2%, black 1,00 Set 5707292496423
896121-60S 35 Cover f/seatsidecush.fut.sz. 2, black 1,00 Set 5707292496454
896131-60S 35 Cover f/seatsidecush.fut.sz 3, black 1,00 Set 5707292496485
896141-60S 35 Cover f/seatsidecush.fut.sz 4, black 1,00 Set 5707292366207
896161-60S 35 Cover f/seatsidecush.fut.sz 24, black 1,00 Set 5707292496478
5800780 37 Foam, Seat 3 cm futura size 2 1,00 Pieces 5707292183125
5800785 37 Foam,seat 3 cm, futura size 3 1,00 Pieces 5707292183132
5800790 37 Foam, Seat 3 cm futura size 4 1,00 Pieces 5707292183149
5800795 37 Foam, Seat 3 cm futura size 2% 1,00 Pieces 5707292183156
5800805 38 Foam,back,3cm pan.fut. 2 1,00 Pieces 5707292183187
5800806 38 Foam,back,5cm pan.fut. 2 1,00 Pieces 5707292183194
5800810 38 Foam, back cushion, 3cm 1,00 Pieces 5707292183224
5800811 38 Foam,back,5cm pan.fut. 3 1,00 Pieces 5707292183231
5800815 38 Foam,backcushion,3cm pan.fut.4 1,00 Pieces 5707292183262
5800816 38 Foam,back,5cm pan.fut. 4 1,00 Pieces 5707292183279
5800820 38 Foam for back cushion 3cm 1,00 Pieces 5707292183309
5800821 38 Foam,back,5cm pan.fut. 2% 1,00 Pieces 5707292183316
5800835 39 Foam,back.right,3cm,pand.fut.2 1,00 Pieces 5707292183385
5800837 39 Foam,backs.right,5cm,pan.fut.2 1,00 Pieces 5707292183408
5800840 39 Foam,right back sdie 3 cm, fut 1,00 Pieces 5707292183422
5800842 39 Foam,backs.right,5cm,pan.fut.3 1,00 Pieces 5707292183446
5800845 39 Foam,backside 3 cm pan.fut.4 1,00 Pieces 5707292183460




Panda Futura

R8C2

5800847 39 Foam,backs,right,5cm,pan.fut.4 1,00 Pieces 5707292183484
5800850 39 Foam for right backside, 3cm 1,00 Pieces 5707292183507
5800852 39 Foam,backs.right,5cm,pan.fut2's 1,00 Pieces 5707292183521
5800836 40 Foam,back.left,3cm,pand.fut.2 1,00 Pieces 5707292183392
5800838 40 Foam,backs.left,5cm,pand.fut.2 1,00 Pieces 5707292183415
5800841 40 Foam, left back side 3 cm 1,00 Pieces 5707292183439
5800843 40 Foam,backs.left,5cm,pand.fut.3 1,00 Pieces 5707292183453
5800846 40 Foam,backside 3 cm pan.fut.4 1,00 Pieces 5707292183477
5800848 40 Foam,backs.left,5cm,pand.fut,4 1,00 Pieces 5707292183491
5800851 40 Foam for left backside, 3cm 1,00 Pieces 5707292183514
5800853 40 Foam,backs.left,5cm,pan.fut.2% 1,00 Pieces 5707292183538
5800865 41 Foam,seat side,right 3cm, sz 2 1,00 Pieces 5707292183583
5800867 41 Foam,seats.right,5cm,pan.fut.2 1,00 Pieces 5707292183606
5800870 41 Foam, right Seat side 3 cm 1,00 Picces 5707292183620
5800872 41 Foam,seats.right,5cm,pan.fut.3 1,00 Pieces 5707292183644
5800875 41 Foam, right Seat side 3 cm,sz4 1,00 Pieces 5707292183668
5800877 41 Foam,seats.right,5cm,pan.fut.4 1,00 Pieces 5707292183682
5800880 41 Foam,seat side,right 3cm,sz 2% 1,00 Pieces 5707292183705
5800882 41 Foam,seats.right,5cm,pan.fut2', 1,00 Pieces 5707292183729
5800866 42 Foam, Seat side left, 3cm,sz 2 1,00 Pieces 5707292183590
5800868 42 Foam,seats.left,5cm,pand.fut.2 1,00 Pieces 5707292183613
5800871 42 Foam, left Seat side 3 cm 1,00 Pieces 5707292183637
5800873 42 Foam,seats.left,5cm,pand.fut.3 1,00 Pieces 5707292183651
5800876 42 Foam, Seat side left, 3 cm,sz4 1,00 Pieces 5707292183675
5800878 42 Foam,seats.left,5cm,pand.fut.4 1,00 Pieces 5707292183699
5800881 42 Foam,seat side,left, 3cm,sz 2'4 1,00 Pieces 5707292183712
5800883 42 Foam,seats.left,5cm,pan.fut.2}, 1,00 Pieces 5707292183736
5800890 43 Lombar support, upholstered 1,00 Pieces 5707292183774
5800891 43 Lombar support std 3 + act 4 1,00 Pieces 5707292183781
5800892 43 Lombar support pan.fut. 4 1,00 Pieces 5707292183798
0631862 44 Insex uh. 5*12, FZB 2,00 Pieces 5707292352293




R8C2

Panda Futura

w17

<+
o
~

PANDA
ACTIVE

PARALLELVEJ 3
8751 GEDVED

R

10



Panda Futura

R8C2

Panda Active Size 2-4

No. Position Description Quantity | Unit of Measure Ean code

1 82270-66 Panda active plast. Back sz. 2 PCS 1 5707292230935
1 82280-66 Plast back Panda active 3,blue PCS 1 5707292231079
1 82285-66 Panda active plast back PCS 1 5707292231123
1 82275-66 Pvc back Panda active 2Y5,blue PCS 1 5707292231000
1 82270-60 Back Panda active 2, black PCS 1 5707292230911
1 82280-60 Plast back Panda active3,black PCS 1 5707292231055
1 82285-60 Back Panda active 4, black PCS 1 5707292231109
1 82275-60 Back Panda active 2/, black PCS 1 5707292230980
2 82325-66 Plast Seat Panda 2, blue PCS 1 5707292231307

2 82335-66 Plast seat panda fut.std. 3 PCS 1 5707292231383
2 82345-66 Plast Seat for Panda fut.std.4 PCS 1 5707292231468
2 82295-66 Seat for Panda 2'%, plastic PCS 1 5707292231215
2 82325-60 Plast Seat Panda 2, black PCS 1 5707292231284
2 82345-60 Plast Seat Panda 4, black PCS 1 5707292231444
2 82295-60 Plast Seat Panda 2%, black PCS 1 5707292231192
3 0621600 Insex screw counters. 6*16 PCS 4 5707292138965
4 6109002 Screw spec. M8, Panda 5 PCS 2 5707292466754
5 82327 Side-mounting, left, Panda 2 PCS 1 5707292123459
5 82337 Side-mounting, left, Panda 3 PCS 1 5707292123527
5 82347 Side-mounting, left, Panda 4 PCS 1 5707292123596
6 0621600 Insex screw counters. 6*16 PCS 2 5707292138965
7 82350 Tilt mounting universal PCS 1 5707292123626
7 82339 Tilt mounting Panda size 4 PCS 1 5707292123541
8 82301-62 Panda pvc adaptor black PCS 1 5707292231239
9 0659571 Button head w/flange M6*25 FZB PCS 4 5707292355843
10 1606500 Lock nut 6 mm PCS 5707292141361
11 1103000 Fazet washer 6mm PCS 2 5707292140289
12 1901500 Steel set screw 6*35mm PCS 1 5707292141965
13 81711 Internal rod f.back tip, pal,2 PCS 1 5707292118004
13 81695 Int. Rod f. Backtip Panda 3-4 PCS 1 5707292117861
14 82403 Pvc mounting f/armrest, Panda PCS 2 5707292123992
15 82326 Side-mounting, right, Panda 2 PCS 1 5707292123442
15 82336 Side-mounting, right, Panda 3 PCS 1 5707292123510
15 82346 Side-mounting, right, Panda 4 PCS 1 5707292123589
16 82408 Underlaying plate, pvc armrest PCS 2 5707292124043
17 3652501 R82 handle M6*16mm screw PCS 2 5707292413963
18 0611600 Insex screw counters. 6*12 PCS 4 5707292138705
18.1 0611000 Insex screw counters. 6*20 PCS 4 5707292138682
19 81138 Mounting for headrest w.strap PCS 1 5707292112637
20 3503001 R82 handle M8x15mm screw PCS 1 5707292413925
21 1940000 Eco-syn, 3,5%10 PCS 8 5707292142559
21 0621200 Insex screw 6*12mm PCS 8 5707292138958
22 81918 Mounting f.sidesupport Impala PCS 2 5707292119865
22 74201 Rail for side supports size 1 PCS 2 5707292449566
23 81712 Back mounting for Panda 1-4 PCS 1 5707292118011
24 1901800 Steel set screw 6*40mm PCS 1 5707292141972
25 0645600 Button head screw 6*16 black PCS 2 5707292139290
26 2506000 Ferrule fr20*¥10%*1,0-2,0 in.bl. PCS 1 5707292144195

11




Panda Futura

R8C2

27 81710 External pipe for back tip,pan PCS 1 5707292117991
28 3502516 Tightening handle 45mm M8*16 PCS 1 5707292146915
29 4913035 30mm black ps14 with glue hook MTR 0,85 5707292469755
30 1125000 Screenwasher FZB black 5/16*30 PCS 2 5707292140470
31 5550260 Sewn strap holder.Pan.futura PCS 2 5707292178459
32 896131-65US Cover seat cushion s3 PCS 1 5707292544377
32 896131-65 Cover f.seat,futura sz.3, red PCS 1 5707292495969
32 896121-84 Cover, Seat cushion, size 2 PCS 1 5707292438331
32 896121-78 Cover f.seat,futura sz.2,g.abc PCS 1 5707292294487
32 896121-73 Cover f. Seatside size 2 futur PCS 1 5707292367044
32 896121-71 Cover f.seat,futura sz.2,b.abc PCS 1 5707292294449
32 896121-66 Cover,seat cush. Futura size 2 PCS 1 5707292497444
32 896121-65 Cover f.seat,futura sz.2, red PCS 1 5707292495945
32 896121-79 Cover f.seat,futura sz.2,g.hop PCS 1 5707292294500
32 896121-72 Cover f.seat,futura sz.2,b.hop PCS 1 5707292294463
32 896121-71US Cover,backcushion,futura activ PCS 1 5707292368973
32 896131-66 Cover f.seat,futura sz.3,blue PCS 1 5707292498250
32 896131-71 Cover f.seat,futura sz.3,blue PCS 1 5707292294630
32 896131-71US Cover,seatcushion, futura activ PCS 1 5707292294654
32 896131-72 Cover for seatcushion,fut.sz 3 PCS 1 5707292294661
32 896131-73 Cover p.futura Seat 3,red abc PCS 1 5707292294685
32 896131-78 Cover for seatcushion,fut.sz 3 PCS 1 5707292294708
32 896131-79 Cover for seatcushion,fut.sz 3 PCS 1 5707292294722
32 896131-84 Cover, Seat cushion size 3 PCS 1 5707292368522
32 896141-65 Cover for seatcushion,fut.sz 4 PCS 1 5707292495976
32 896141-65US Cover seat cushion size4 PCS 1 5707292550750
32 896141-66 Cover for seatcushion,fut.sz 4 PCS 1 5707292498274
32 896141-66US Cover for seatcushion,fut.sz 4 PCS 1 5707292551207
32 896141-71 Cover for seatcushion,fut.sz 4 PCS 1 5707292295903
32 896141-71US Cover,seatcushion,futura activ PCS 1 5707292295927
32 896141-72 Cover for seatcushion,fut.sz 4 PCS 1 5707292295934
32 896141-78 Cover for seatcushion,fut.sz 4 PCS 1 5707292295958
32 896141-79 Cover for seatcushion,fut.sz 4 PCS 1 5707292295972
32 896161-84 Cover,seatsidecush.size 2 PCS 1 5707292438379
32 896161-79 Cover f/seatcushion,fut.sz 2%5 PCS 1 5707292297105
32 896161-78 Cover f/seatcushion,fut.sz 2% PCS 1 5707292297082
32 896161-73 Cover for Seat cushion size 2% PCS 1 5707292357007
32 896161-72 Cover f/ seatcushion,fut.sz 2%4 PCS 1 5707292297068
32 896161-71US Cover,seatchusion, futura activ PCS 1 5707292297051
32 896161-71 Cover f/seatcushion,fut.sz 2%5 PCS 1 5707292297037
32 896161-70 Cover seat cushion size2s PCS 1 5707292367969
32 896161-66 Cover,seat cushion fut 2% PCS 1 5707292497420
32 896161-65US Cover f/seatcushion,fut.sz 2Y4 PCS 1 5707292541123
32 896161-65 Cover f/seatcushion,fut.sz 2 PCS 1 5707292495952
32 896141-73 Cover for seatcushion,fut.sz 4 PCS 1 5707292361523
33 895131-65US Cover,backcushion,futura activ PCS 1 5707292544360
33 895131-65 Cover,backre.futura ac.3, red PCS 1 5707292496287
33 895122-84 Scm cov.back cush.fut.act.sz.2 PCS 1 5707292598578
33 895122-78 5CM BETR.RYGHYNDE.FU.AKT.STR.2 PCS 1 5707292291028
33 895122-73 5CM BETR.RYGHYNDE.FU.AKT.STR.2 PCS 1 5707292367181

12




Panda Futura

R8C2

33 895122-71 5CM BETR.RYGHYNDE.FU.AKT.STR.2 PCS 5707292291004
33 895122-66 Cover, back cush. 5 cm, size 2 PCS 5707292561749
33 895122-65 Cover, back cush. 5 cm, size 2 PCS 5707292496799
33 895121-79 Cover,backre.futura ac.2,g.hop PCS 5707292290977
33 895121-78 Cover,backre.futura ac.2,g.abc PCS 5707292290953
33 895121-73 BETR.RYGHYNDE.FUTURA AKT.STR.2 PCS 5707292367136
33 895121-72 Cover,backre.futura ac.2,b.hop PCS 5707292290939
33 895121-71US Cover,backcushion,futura activ PCS 5707292368966
33 895121-71 Cover,backre.futura ac.2,b.abc PCS 5707292290915
33 895121-66 Cover,backre.futura ac.2,blue PCS 5707292498076
33 895121-65 Cover,backre.futura ac.2, red PCS 5707292496263
33 895131-66 Cover,backre.futura ac.3,blue PCS 5707292498083
33 895131-71 Cover,backre.futura ac.3,b.abc PCS 5707292291097
33 895131-71US Cover,backcushion, futura activ PCS 5707292291103
33 895131-72 Cover,backre.futura ac.3,b.hop PCS 5707292291110
33 895131-73 Cover, back cushion size 3 PCS 5707292367167
33 895131-78 Cover,backre.futura ac.3,g.abc PCS 5707292291127
33 895131-79 Cover,backre.futura ac.3,g.hop PCS 5707292291134
33 895131-84 Cover, back cushion size 3 PCS 5707292368508
33 895132-65 Cover,backcush.+5cm,active 3 PCS 5707292496867
33 895132-66 Cover,backcush.+5cm,active 3 PCS 5707292502292
33 895132-71 Cover,backcush.+5cm,active 3 PCS 5707292291141
33 895132-72 Cover,backcush.+5cm,active 3 PCS 5707292291158
33 895132-73 Cover, back cushion +5cm, sz 3 PCS 5707292367204
33 895132-78 Cover,backcush.+5,active 3 PCS 5707292291165
33 895141-65 Cover,backre.futura ac.4, red PCS 5707292496294
33 895141-65US Betrek.ryghyn.futura akt.str 4 PCS 5707292550743
33 895141-66 Cover,backre.futura ac.4,blue PCS 5707292498090
33 895141-66US Cover,backre.futura ac.4,blue PCS 5707292551184
33 895141-71 Cover,backre.futura ac.4,b.abc PCS 5707292291301
33 895141-71US Cover,backcushion,futura activ PCS 5707292291325
33 895141-72 Cover,backre.futura ac.4,b.hop PCS 5707292291332
33 895141-78 Cover,backre.futura ac.4,g.abc PCS 5707292291363
33 895141-79 Cover,backre.futura ac.4,g.hop PCS 5707292291387
33 895142-65 Cover,backcush.+5,act.4, red PCS 5707292496874
33 895161-84 BETRZEAK.RYGHY FUTURA AKT.STR.2%: PCS 5707292454164
33 895161-79 Cover,backr.futura ac.2'2,g.hop PCS 5707292291622
33 895161-78 Cover,backr.futura ac.2'4,g.abc PCS 5707292291615
33 895161-73 BETRAK.RYGHY FUTURA AKT.STR.2% PCS 5707292367150
33 895161-72 Cover,backr.futura ac.2'2,b.hop PCS 5707292291608
33 895161-71US Cover,backcushion,futura activ PCS 5707292291592
33 895161-71 Cover,backr.futura ac.2',b.abc PCS 5707292291585
33 895161-70 BETRZK.RYGHY.FUTURA AKT.STR.2% PCS 5707292367945
33 895161-66 Cover back cush fut. Act 25 PCS 5707292497413
33 895161-65US Cover,backr.futura ac.2%, red PCS 5707292541116
33 895161-65 Cover,backr.futura ac.2', red PCS 5707292496270
33 895142-73 Cover backcush.+5,active 4 PCS 5707292365996
33 895142-72 Cover,backcush.+5,active 4 PCS 5707292291424
33 895142-71 Cover,backcush.+5,act.4,bl abc PCS 5707292291417
33 895142-66 Cover,backcush.+5,act.4, blue PCS 5707292502322

13




Panda Futura

R8C2

33 895162-65 Cover backcush.+5,active 2% PCS 5707292496904
33 895162-66 Cover backcush.+5,active 2%2 PCS 5707292527172
33 895162-71 Cover backcush.+5,active 2% PCS 5707292291639
33 895162-72 Cover backcush.+5,active 2%, PCS 5707292291646
33 895162-73 BETRAK.RYGH.5CM FUT.AKT.STR.2}2 PCS 5707292367198
34 895121-60S Cover for back side,act 2+215+3 SET 5707292496546
34 895121-84S Betr.rygside.fu.akt.str.2+2'5+3 SET 5707292368515
34 895121-78S Cover,back-side cush.green abc SET 5707292290960
34 895121-73S BETR.RYGSIDEHYND.FU.AKT.2+2%5+3 SET 5707292367143
34 895121-718 Cover for back side,act 2+2}5+3 SET 5707292290922
34 895121-79S Cover, backside cush,sz 2+2}5+3 SET 5707292290984
34 895121-72S Cover,backside cush,sz.2+2%+3 SET 5707292290946
34 895141-60S Cover for backsidecushion sz.4 SET 5707292496553
34 895141-71S Cover for backsidecushion sz.4 SET 5707292291318
34 895141-72S Cover, backsidecushion size 4 SET 5707292291349
34 895141-78S Cover,back-side cush.green abc SET 5707292291370
34 895141-79S Cover, backside cush.size 4 SET 5707292291394
34 895121-708 BETR.RYGSIDE.FU.AKT.STR.2+2'5+3 SET 5707292367952
34 895141-73S Cover, backsidecushion size 4 SET 5707292291356
35 896131-60S Cover f/seatsidecush.fut.sz 3 SET 5707292496485
35 896121-84S Cover, seatsidecush, size 2 SET 5707292438348
35 896121-78S Cover f/seatsidecush.fut.sz.2 SET 5707292294494
35 896121-73S Cover, seatsidecush, size 2 SET 5707292367051
35 896121-71S Cover f/seatsidecush.fut.sz. 2 SET 5707292294456
35 896121-60S Cover f/seatsidecush.fut.sz. 2 SET 5707292496454
35 896121-79S Cover f/seatsidecush.fut.sz 2 SET 5707292294517
35 896121-72S Cover f/seatsidecush.fut.sz. 2 SET 5707292294470
35 896131-71S Cover f/seatsidecush.fut.sz 3 SET 5707292294647
35 896131-72S Cover f/seatsidecush.fut.sz 3 SET 5707292294678
35 896131-73S Cover p.futura seats.3,red abc SET 5707292294692
35 896131-78S Cover f/seatsidecush.fut.sz. 3 SET 5707292294715
35 896131-79S Cover f/seatsidecush.fut.sz 3 SET 5707292294739
35 896131-84S Cover, seatsidecush, size 3 SET 5707292368539
35 896141-60S Cover f/seatsidecush.fut.sz 4 SET 5707292366207
35 896141-71S Cover f/seatsidecush.fut.sz 4 SET 5707292295910
35 896141-72S Cover f/seatsidecush.fut.sz 4 SET 5707292295941
35 896141-78S Cover f/seatsidecush.fut.sz 4 SET 5707292295965
35 896141-79S Cover f/seatsidecush.fut.sz 4 SET 5707292295989
35 896161-84S Cover,seatsidecush.size 2% SET 5707292438409
35 896161-79S Cover f/seatsidecush.fut.sz 2'2 SET 5707292297112
35 896161-78S Cover f/seatsidecush.fut.sz.2'2 SET 5707292297099
35 896161-73S Cover for seatside cush. Sz.2% SET 5707292357014
35 896161-72S Cover f/seatsidecush.fut.sz 2%2 SET 5707292297075
35 896161-71S Cover f/seatsidecush.fut.sz 2% SET 5707292297044
35 896161-70S Cover seat cushion size2s SET 5707292367976
35 896161-60S Cover f/seatsidecush.fut.sz 2'2 SET 5707292496478
35 896141-73S Cover f/seatsidecush.fut.sz 4 SET 5707292361547
37 5800030 Foam,seat-cushion 4cm. Panda 3 PCS 5707292181657
37 5800785 Foam,seat 3 cm, futura size 3 PCS 5707292183132
37 5800780 Foam, Seat 3 cm futura size 2 PCS 5707292183125

14




Panda Futura

R8C2

37 5800020 Foam,seatcushion 4cm. Panda 2 PCS 5707292181633
37 5800790 Foam, Seat 3 cm futura size 4 PCS 5707292183149
37 5800040 Foam,seat-cushion 4cm. Panda 4 PCS 5707292181671
37 5800795 Foam, Seat 3 cm futura size 2% PCS 5707292183156
37 5800060 Foam seatside 4cm Panda 2'2 PCS 5707292181718
38 5800812 Foam, back 3 cm futura size 3 PCS 5707292183248
38 5800809 Foam, back 5 cm futura size 2 PCS 5707292183217
38 5800807 Foam, back 3 c¢m futura size 2 PCS 5707292183200
38 5800814 Foam, back 5 cm futura size 3 PCS 5707292183255
38 5800817 Foam, back, futura active 4 PCS 5707292183286
38 5800819 Foam backScm,futura act. 4 PCS 5707292183293
38 5800822 Foam, back 3 cm futura size 2% PCS 5707292183323
38 5800824 Foam back5cm, futura act.2% PCS 5707292183330
39 5800324 Foam backside 3 cm, p.activ 2 PCS 5707292182296
39 5800344 Foam back-side cush.3cm, activ PCS 5707292182418
40 5800323 Foam,backside 3cm p.active 2 PCS 5707292182289
40 5800343 Foam back-side cush.3cm,activ PCS 5707292182401
41 5800885 Foam seat side PCS 5707292183743
41 5800870 Foam, right Seat side 3 cm PCS 5707292183620
41 5800867 Foam,seats.right,5cm,pan.fut.2 PCS 5707292183606
41 5800865 Foam,seat side,right 3cm, sz 2 PCS 5707292183583
41 5800888 Foam seat side Pan.2,usa PCS 5707292369048
41 5800872 Foam,seats.right,5cm,pan.fut.3 PCS 5707292183644
41 5800875 Foam, right Seat side 3 cm,sz4 PCS 5707292183668
41 5800886 Foam seat side PCS 5707292183750
41 5800877 Foam,seats.right,5cm,pan.fut.4 PCS 5707292183682
41 5800880 Foam,seat side,right 3cm,sz 2% PCS 5707292183705
41 5800887 Foam seat side Pan. 2/5,usa PCS 5707292183767
41 5800882 Foam,seats.right,5cm,pan.fut2’s PCS 5707292183729
42 5800871 Foam, left Seat side 3 cm PCS 5707292183637
42 5800868 Foam,seats.left,5cm,pand.fut.2 PCS 5707292183613
42 5800866 Foam, Seat side left, 3cm,sz 2 PCS 5707292183590
42 5800873 Foam,seats.left,5cm,pand.fut.3 PCS 5707292183651
42 5800876 Foam, Seat side left, 3 cm,sz4 PCS 5707292183675
42 5800878 Foam,seats.left,5cm,pand.fut.4 PCS 5707292183699
42 5800881 Foam,seat side,left, 3cm,sz 2%4 PCS 5707292183712
42 5800883 Foam,seats.left,5cm,pan.fut.2’; PCS 5707292183736
43 5800890 Lombar support, upholstered PCS 5707292183774
43 5800893 Uphols. Lumbar support sz.2+2% PCS 5707292183804
43 5800891 Lombar support std 3 + act 4 PCS 5707292183781
44 0631862 Insex uh. 5x12, FZB PCS 5707292352293
45 0611200 Insex screw counters. 6*12 PCS 5707292138699

15




